Unit 4 Factorization

and Algebraic Manipulation

Sr. 4
w| Questions A B C D
The factorization of
v
1 12x + 36 is: 12(x + 3) 12(3x) 12(3x + 1) x(12 + 36x)
The factors of 2 >
— v 2x—3)(2x + 3 x)(2 — 3x)?
2 | 442 —12% + 9 are: (Z2x +3) (2x - 3) (2x—3)2x+ 3) | @ +30@2-3%)
3 | The HCF of a®b® and ab? is: a’b? ab*v’ a*b® a’b
The LCM of 16x?% 4x and 5 "
7 / 4.
4 Sy 480x°y 240xy 240x“y 120x*y
5 FEGELIEY S s H,CF - sum difference productv’ quotient
of two polynomials.
The square root of
. _
6 5% — i - G + (x — 3) + (x + 3) x—3 x+3
The LCM of (a—b)? and 5 - .
. _ _ o _ m6
7 (a — b)*is: (a—b) (a—b) (a—»b) (a—b)
Factorization of 3
v — 3 x x?+x x—1D(x*—x
8 B 4 e S . e (x+1) (x-1) G+ DGE L1y | G T +1)
9 | Cubic polynomial has degree: 1 2 3V 4
3 _
10 g_”e SMIEREORAE — A o gw x+3 x'—3x+9 | BothAandC
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1 122 + 36 = 12(% + 3)
4x% —12x +9 =?
2 4x% —12x +9 = (2x)? — 2(2x)(2) + (3)?
= (2x — 3)?
3 | The HCF of a®b® and ab? is ab®. i.e the lowest power of each common factor.
4. | LCM is the product of highest powers of all factors.
5 For any two polynomials,
LCM X HCF = product
square root of x> —6x+9="7?
x2—6x+9=(x)*-2(x)(3)+ (3)?
6 x?2—6x+9=(x—3)?
Vx2 —6x +9 = /(x — 3)2
Vx2—6x+9=1(x—3)
7 | The LCM is the higher power of the common base (a — b)
x3+3x2+3x+1=7?
g x3+3x2+3x+1
= (x)® +3(x)* (1) + 3(x)C1)* + (1)
= (x +1)3
O | Because the highest power is 3. So, a cubic polynomial has degree 3.
One factor is x—3
10 x3—27=(x)%-(3)3
= (x = 3)[(x)* + () 3) + (3)%]
=(x—=3)(x*+3x+9)
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